Game 1 Clue card:

a2y =__
Aty =__

Gawme 2 Clue Carol:

X+3y=__
X-Yy=__

qame 2 Clue cardl:

qame 4 Clue cavol:

Xx+t2y=__ 3X -2y = __
xty=__ 2Kty =__
Gavee 5 Clue Cavd: qavee & Clue Card:
2+ 4y =__ 3X-2y=__
3)<+45=_ SX-2y=__

Gawme F Clue card:

3)<+:25=_
X+y=__

Game £ Clue carol:

4x+3y=__
SX-Yy=__

Game 9 clue card:

X +3Yy=__
X-Yy=__

Game 10 Clue Carol:

xty=__
)(2+52=_

Game 11 Clue Card:

Game 12 Clue card:

5)<+35=_
3)<+:23(,j=_




Game 13 Clue card:

Game 14 Clue Carol:

10X -5y = _ SX + 2y =_
Game 15 Clue card: Your Game Clue Cara:

BX-3Y =__
X -9y =__

Roll 2 dice to give You two numbers (represente bg X ano ‘d)' Starting with
‘Ganme 1 Clue Card’, work out two answers using your numbers - fill the gaps
and give the two clues to the other people on Your table,

what strategies do they use to work out the two numbers?
Keep a wote of these strategies on a piece of paper and be ready to share and
explain what you find out/ use,

Mr Slack




